
APPENDIX U

EXAMPLE CALCULATIONS



𝑋𝑇𝐶𝐸 = 𝟓. 𝟎
𝝁𝒈

𝑳
×

1 𝑔

106 𝜇𝑔
×

1 𝑚𝑜𝑙

131.4 𝑔
= 3.8 × 10−8

𝑚𝑜𝑙

𝐿

𝑃𝑇𝐶𝐸 = 11
𝑎𝑡𝑚 ∙ 𝐿

𝑚𝑜𝑙
× 3.8 × 10−8

𝑚𝑜𝑙

𝐿
= 4.2 × 10−7𝑎𝑡𝑚

4.2 × 10−7𝑎𝑡𝑚

1 𝑎𝑡𝑚
= 0.420 𝑝𝑝𝑚𝑣 = 𝟒𝟐𝟎 𝒑𝒑𝒃𝒗

𝑋 = Concentration of contaminant in groundwater
𝑚𝑜𝑙

𝐿

𝐾𝐻 = Henry′s Law constant =
𝑃

𝑋

P = 𝑃𝑎𝑟𝑡𝑖𝑎𝑙 𝑃𝑟𝑒𝑠𝑠𝑢𝑟𝑒 (𝑎𝑡𝑚)

𝐾𝐻 𝑇𝐶𝐸 = 11
𝑎𝑡𝑚 ∙ 𝐿

𝑚𝑜𝑙

𝐾𝐻 𝑃𝐶𝐸 = 18
𝑎𝑡𝑚 ∙ 𝐿

𝑚𝑜𝑙

𝟔𝟒 𝐩𝐩𝐛𝐯 = 0.064 ppmv =
6.4 × 10−8𝑎𝑡𝑚

1 𝑎𝑡𝑚

𝑋𝑃𝐶𝐸 = 6.4 × 10−8 𝑎𝑡𝑚 ×
1

18
𝑎𝑡𝑚 ∙ 𝐿
𝑚𝑜𝑙

= 3.6 × 10−9
𝑚𝑜𝑙

𝐿

Molecular weight of PCE = 165.85
𝑔

𝑚𝑜𝑙

Molecular weight of TCE = 131.4
𝑔

𝑚𝑜𝑙

The following example calculation converts the measured concentration of TCE in groundwater to the 
expected equilibrium concentration in soil gas using the Henry’s Law constant for TCE: 

The following example calculation converts the measured concentration of PCE in soil gas to the expected 
equilibrium concentration in groundwater using the Henry’s Law constant for PCE: 

3.6 × 10−9
𝑚𝑜𝑙

𝐿
× 165.85

𝑔

mol
× 106

𝜇𝑔

𝑔
= 0.59

𝜇𝑔

𝐿

Measured concentration of PCE in soil gas = 64 ppbv

Measured concentration of TCE in groundwater = 5.0
𝜇𝑔

𝐿


